GR) 1 F=EH (B 1 BERBEERESALTKEE (BAZ : TH)
A FE E o B JH AN R i
H A AR P Al AR g ¥oE® MR B ]
—MIR | X 4| & @
ERZH4 | 5 E | = o i
| FFEBREL 7,214 7,118 96 0 101 7,113 | 8 W{EE 20| - BFERBREAXTKEEEEE 1,214
(e 8. —FEMf LT 4 20
TKIER UL 11 FEHE 1,875 L1 Bk 375
Py 101 &R (iizx) 1, 500
12 &5E 71 12, K SARBUEE 3
AT B AR 4
13 ZFERH 4,367 13. F/ERE A EHEI EREE 665
TKIE e HERF R BE AR 3,702
14 i B 2| 14, b B 2
OVE 8 15. THEAE 500
16. JFR L 26
15 THHEA 500| 22. BEE 4 100
# 23. fE& 4 10
27 JHEBL, T IEE R 307
16 JFAFBLHE 26
22 #ifE. 100
TR K OV
84>
23 BB 4, 10
FIF- KLY
E5 A}
27 INFRE 307
GR) 1 F=EHEH (H) 1 BFCREERSALTKESE B BB AR A AL T K E R B & 5




(HA7 : T)
A HE E o M R KN R i
H A AR P Al AR = 13 ¥eoE® MR i Gl
— AR X | &

ERZH4 | # HFE | £ oM
2 REEBREE 34, 751 34, 092 659 0 0 13, 100 21,651 |11 EHE 12,000 - EHREtt X — R EIEEESE 34, 751
PRARER 11 Bk E 3, 000
SVERY A EAEL LY 12 5 & 5 f&kERt (i) 9, 000
itk FEE 12 SRR 5
13, 100 13 HEekt 22,746 3. BR NI s PR ERE 78
KERRAEZ R 2,816
1HUEERZFER 6, 156
T K i e R PR AT} 13, 696

7 41, 965 41, 210 755 0 0 13,201 28, 764
G 2 NEE (A NEHE (Hf7 2 )
K E E o B R N R i
H A AR IS S = 13 ¥o® MO B G|
— AR X o R |

ERZHAe | # 5 | £ ol
1 o4 23,951 23,563 388 0 0 90 23, 861 |23 {Hi&# 4, 23,951 * T& 23, 951
FF- B 23. R EBRBIR 2 T K E FHEME 23,951

4 e O EIEIRSE
A4
90




2 F]F 3, 354 3, 894 A540 0 0 0 3, 354 |23 fBiE 4, 3,354| - F|F 3,354
FlF KL 23. R EBRBEIR 2 T K EF A 3, 354
TSk
2 27, 305 27, 457 A152 0 0 90 27,215
G 3 TFiiE (R 1 PHE (HA7 )
K FE E o B R KN R i
H A AR B A A ¥oE MO B Gl
— AR X | &
ERZH4 | # HFE | £ ol
1 T 5, 000 5, 000 0 0 0 0 5, 000
#t 5, 000 5, 000 0 0 0 0 5, 000
GR) 1 FEH () 1 BFEREREAETKEE ~ G 3 THE ) 1 Tiftk R EBRIE RSN T /KBRS E

_7_




